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M.Com. (Previo'us)'AB'ST Examination, 2016

ADVANCED COST & MANAGEMENT
ACCOUNTING

Time Allowed : Three Hours

Maximum Marks : 100

PART-A (@UE-3H) [Marks : 20
Answer all questions (50 words each).

All questions carry equal marks.
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PART-B ( @UE-9) [Marks : 50

Answer five guestions (250 words each), selecting one

from each Unit. All questions carry equal marks.
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PART-C ( @TS-¥) [Marks : 30
Answer any two questions (300 words each).

All questions carry equal marks.
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PART-A
(Eug-37)

1. (1) Where does Pareto analysis applicable to the

Business situations ?

B o e Rtk F Re e w@m
BT ®?
(11) What are disadvantages of Cost Plus Pricing

method ? Write any four.
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(iii) At what Price articles should sell in period of
recession ?

~

gq 7

h R W e
A<l % §H9 IR F HE ged 9 d=E =

(iv) How to calculate the Throughput contribution ?
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(v) What are types of activities under Activity based

Costing?
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(vi) Define the term Cost as per Cost Accounting
Standard-1.
E SrEiEd AE-1 ® ISR W R i
fienfeg it

(vii) Under Part 1al plan, from which Cost work-in-

progress account is charged and credited ?
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(viii) What are components of Target Costing ?

?

Al
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. (ix) How to calculate Economic value added ?

(x) What are Business perspectives under Balance

Score Card 7
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PART-B
(Ere-7)
UNIT-I

(FHRTE-1)

2. Explain the following :

(a) New Product Pricing

(b) Rate of Return Pricing.
FHfafer & e sifm .
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(b) ¥ W Hem faufo

3. What do you mean by Pareto analysis ? What are its
Business applications ? Explain.
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UNIT-II
(3=TE-11)

4. What is throughput Accounting ? How is it improved ?

Explain in detail.
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5. A Paint Manufacturing Company manufactures
2,00,000 per annum medium sized tins of “Spray Lac
Paints” when working at normal capacity. It incurs

the following costs of manufacturing per unit :

Rs.
Direct Material 7.80
Direct Labour 2.10
Variable overheads 250
Fized overhead 4.00
Production cost per unit ﬂ

Each Unit (tin) of the product is sold for Rs. 21 with
variable selling and administrative expenses of 60
paise per tin. During the next quarter only 10,000
units can be produced and sold. Management plans
to shut down the plant estimating that the Fixed
manufacturing cost can be reduced to Rs. 74,000 for
the quarter. When the plant is operating, the Fixed
overheads are incurred at a uniform rate throughout
the year. Additional costs of Plant shut down for
the quarter are estimated Rs. 14,000.

You are required :
(a) To express your opinion, along with calculation,

as to whether the plant should be shut down
during the guarter.
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(b) To calculate the shut down point for gquarter in
units of products (i.e. In terms of number of

tins).
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UNIT-ITI1
( THTE-111 )

6. What do you mean by Activity Cost Accounting ?
How is it differing from Traditional Costing ?
T TEfafy @rd wEieT | & 9Hse e/ I%
WG oFd ol @ $8 fas ©?

7. Explain the following in the context of Cost

Accounting Standard-3 on overheads (revised 2011):
(a) Cost centre and Cost object.
-(b) Normal capacity.

(¢) Presentation of overheads.

AR SrETRT WA9-3 SURST (TR 2011) & w=d
i = w w= sl .

(a) @R %% @ A9 9%
(b) WA &
(c) IUNEAl &1 WEgfas|
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UNIT-IV

(3HTI-IV )

8. A.Company has the capacity of Production of 80,000
units and presently sells 20,000 units at Rs. 100 each.
The demand is sensitive to Selling price and it has
been observed that every reduction of Rs. 10 in Selling
price the demand is doubled. What should be the
Target cost at full capacity, if Profit margin on sale

is taken as 25%.

What should be the Cost reduction scheme, if at
present 40% cost is variable with same % of profit ?
If rate of return is 15%, what will be maximum

investment at full capacity ?

Explain the Accounting procedure of Standard

costing.

TF FEA KT 80,000 THEA IcAfGd FE FHI EHAT
T @ =9aE # 20,000 THEAT 100 % WG THE oA
W R A fawe gea % wid gocAeie © a9 9%
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Calculate the Economic Value Added of a firm from

the following given data :

frfefon By T TEEl © T Bd @ faq onfEE
T Sig ® T RINT

NOPAT Rs. 16,00,000
Rate of return on risk free Securities 10%
Market rate of return 15%
Beta 0.5
Cost of debt 8%
Mixture ratio of Equity and Debt f: 8
Invested Capital _ Rs. 50,00,000
UNIT-V

(3HE-V)

Explain the terms Market Value Added and Cash

Flow Return on Investment.
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11. Write a critical note on “CAS-1 classification of

Cost”,

“CAS-1 ©FId = e’ @ AT feogofy
i:agio&{}f ]

PART-C
(Tve-7)

12. Write short notes on the following :
(a) Export v/s Local sales
(b) Shut down or Continue decision
() Target Costing
(d) Balance Score Card.
Freffafan W s fewfred fafan
(@) TG sm i s
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4802/44/2,530 10



e

13. Hindustan Unilever Limited produces three products
viz. Lux, Lifebuoy and Dove for which Cost

Department furnishes following informations -

fegwm ghfeer fa. 99 SR o=, oW o T
1 IR w8, e fo e faam fre AT

sl Gil T s
Produet Lux Lifebuoy Dove
Quantity produced 10,000 20,000 30,000
Direct Material/p.u. Rs. 50 40 30
Direct Labour/p.u. Rs. 30 40 a0
Labour hours/p.u. 3 4 5
Machiné hours/p.u. s 4 A4 - ¥
No. of Purchase requisitions 1200 1800 2000
No. of Set ups 240 260 300

Production overheads split by Depaftments.
Department 1 = Rs. 11,00,000
Department 2 = Rs. 15,00,000

Department 1 is Labour intensive and Department

2 is Machine intensive.

SR L e e o wee g b
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Total Labour hours in Department 1 1,83,333
fqm 1 ® HA 9 U

Total Machine hours in Department 2 5,00,000
faemm 2 @ w@ W WO

Production overheads split by activity.

s e T & fa #
Receiving/inspecting : Rs. 14,00,000
Production scheduling/machine set up Rs. 12,00,000
Number of batches recgived/inspected ' 5000
Number of batches scheduling and set up 800
You are required to :

SO HE T

(a) Prepare Product Cost Statement under

Traditional absorption costing and Activity based

costing method.
(b) Compare the results under two methods.

(a) et ST T SREi g T SRl
A AEE ® e SwE g feal SRl
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14. An organisation manufactures a product, Particulars

of which are detailed below -

T WIS SR H e s € fewe faem
?

Annual Procuction 20,000

Cost Per annum (Rs.)

Material 50,000

~ Labour 60,000
Overheads 40,000
Apportioned Investment (Rs.) 1,50,000

Determine the Unit selling price under two strategies
mentioned below. Assume that the organisation’s tax

rate is 40%.
(a) 20% return on investment

(b) 6% Profit on list sales, when Trade discouﬁt is

40%..

frefafed o wHIEE & oFarid ufd 3T Tosed ged fAy
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(a} fafqam 98 20%
b) T fod W 6% TH S AN T 40% ©I
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15. How to calculate total Shareholder’s return ? HQW
does EVA sup.gr over the return on Investment ?
Explain.
fE Tog Wi B9 fafEn | yom @ 9 B2 wWe
HifsT) -
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